Ro B ow/

3. AF VARS8 L AR &

732 kA=~ [BABREOER | TV}
[AMIR| AR I0fa2—~F-35ERYNT LOK!
HLAEIFBEIELEE W/ T

MM T R THA.ERIEZTATA A=V TT



/300t F —7 !

xRt 3 5N

[E3KMI11:30~23:00/F+EK [FFE]042(321)4351

7aplis’ 7/30(K)~ 8/5(R)

2 X2 200 7]

-

730 F A2~ [IBARZEVERI o TAHBITABRI42~F—0ERLLYINTYH !/

BEHPBREDTE R it 00m#HcliitcEET
/30
@ LEV/Ry/S—=FF7Y 200 700

@ FE A/ —F ¥ -2 900 700
B NE I (- B 37 4:0) 900 700

é PO RESIT xx=v=241L 900 700

8/3
@ BHFTFRYEY 900 700

S—TI—RIvsRTS4 1000 800

T4/ hF7FA/ A=/ )—Lanyvs

B B=5 2430w

9060 700

A M =B
#iEE ® 5 (4% L) +,2501,050
wriE Rl (i) -986- 780
¥<CHT YV ienni) 950- 750
T V774 2% 900- 700

BB B B
2% REFFEDH 950- 750
AR AEED® +4801,280
FIFNIN=T 1,660 800

HUNREAFEF/(HLARRL) 950 750

BEET LEDSBEK 980- 780
EAHY 950~ 750
KEAVYFHY 1,000 800

+ v b ko5t (2 100AH CHGTHICEET

IMIEEFZ(1B10&ERE) 1,2001,000
B2/ TS/ /Y 5 ) R E AR T

Z Y BAIBYh z0s/zmm1 58+ 880 680
Bty baot s somn)/msss /4578680 680

ER™LEMREYH 1.2001,000
RIS = AR/ HEIER Xt fE RS/ F TSR /SR

FREFREYE 1000 800

INS=T [RRBEETF R [BET T4 /TR LY /BRIt

HSELPFEEYH 1000 800
HESE/ BEEE/ %/ Fr— /KT

BRIt 100AMCEITICEET

NRIE XTMERVEDE -980- 780
BEIAR/FX (ZH
Ry THEERED->TET) -986- 780
HoNIRBEE 900-700
/NS APFEX 080-780
R X100 TEITICERET
X £EEXBEE(BEOK) -900- 700
K+ LAFI& 90808700
HBENFGI RAIFHEE 1,000 800
HE—< 0l EW D -950- 750
EHDEET 55 -950-750
FEXUEE -980-780

FXoAVET4yva2754 980780

WM LT RTEA . ERIZTATAA=Y

3% o9

8N/




